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WRITE THE ROMAN NUMERALS
AS AN ORIDNARY NUMBER
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SATs Revision grids

6042 - 3894 = 46% x 60 = 4378 +3945 =

Paper 1 style questions

Calculate the perimeter of these two shapes. Round the original number to the nearest....
WEATSHAPE AR |
3em Area =27 cm Perimeter = , nearest nearest nearest
£ I have 5 faces - ' » 1 10 100
4 faces are triangles . ’ 315.64
cm
1faceis a square.
® I Perimeter = L J
& | have S vertices. Jem , e g
cm /
£ I have 8 edges. S B— R

Paper 2 & 3 style questions
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ANS

ERS

2+2= 6042-3894= 2. 4% 46%x60= 7 7 & 4378+3945= € 22.%

I— | s s lz P I

9/+10 =19 or | & %_K\Z | L1O|%] = 6 43(7|8

s iy | |15 | 5 -1l - 3940
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WRITE THE ROMAN NUMERALS Calculate the perimeter of these two shapes. Round the original number to the nearest....
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AS AN ORIDNARY NUMBER f .
ol A nearest nearest | nearest
MCDXCVIII Lt ! 10| 100
¢y 4cmq 31564 216 | 220300
i * 7cm Perimeter = *
| LA g / A square based pyramid 4em  20CcM/ /
* 8cm s
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